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G) TI¥A-TTATINA s 8 - &, @37/

(i) 7T % g o7 # forw e 2

(iii) GG 1 T T @ 3K T H & BI5 T YT EA FATE |
(v) 1 397 & g4t 97T & I v &1 €Y7 W @y |

General Instructions :

(i) This question paper contains three parts A, B and C.

(ii)  Part A is compulsory for all candidates.

(iii) Candidates can attempt only one part of the remaining parts B and C.

(iv) All parts of the questions should be attempted at one place.
T —-<h
(urSrer wat aor wmrafRet % o Swre)

PART - A
(Accounting for Partnership Firms and Companies)

1.  HEER % gFied W qREril o JHeh o STavesh & ? I
Why is revaluation of assets on the reconstitution of partnershir
necessary ?

2. U HIEER % VAW % TN BH % @l § § I AW H A T AW, T/
foilg PR FH@T 8 2 e

At the time of admission of a partner, who decides what will be the share
of profit of the new partner out of the firm'’s profit ?

3. AT, T QAT FON TH FH A GEGR § | FOU A BH H GHW U7 o
AT a1 G TE QFa1eTl o GAHeAsh o GHEISH o 9REr O 6 1T
@ T 1,20,000 F1 AY A1 | O F9er F QA @ W oA 0 =
T 1,80,000 1 YraH R | 3@ we w1 wEeiie e fow s qen v =
FO H! T 60,000 AT HT PIAE FRAT | r

Jamuna, Ganga and Krishna are partners in a firm. Krishna retirec == m
the firm. After making adjustments for Reserves and Revaluzzic

Assets and Liabilities the balance in Krishna’s capital accoun: was
T 1,20,000. Jamuna and Ganga paid ¥ 1,80,000 in full settlement =
Krishna. Identify the item for which Jamuna and Ganga paic = = 00

more to Krishna.
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1.3.2013 =t I qon ArgT A B F famed & e | wwsia % ER W
T 2,000 % HHa Tiaiys W faued s i @@ qun ot aget =

G871 S & 70 FEHa BT & | faued = T 1,500 9 91 ST YA BH 3

8.

fopan | fores == % g Y Srravek s iy i |

The firm of Ravi and Mohan was dissolved on 1.3.2013. According to the

agreement Ravi had agreed to undertake the dissolution work for an
agreed remuneration of ¥ 2,000 and bear all realisation expenses.

Dissolution expenses were ¥ 1,500 and the same were paid by the firm.
Pass necessary Journal Entry for the payment of dissolution expenses.

391 1 e 10% 9 3fereh & o3 W itha fohan s @ehar 8, 3g@ hifvg |

State when can shares be issued at a discount of more than 10%.

‘aﬁaﬁﬁsﬁ’wmﬁaﬁql

Give the meaning of ‘Reserve Capital’.

- ST T Y R 2

What is meant by ‘Debenture’ ?

fem e fee w & & wrEier & 9w HEW: 302 F Iua # av §fed § |
femm <1 TR 9t T 4,80,000 97 75537 F7 T 3.00.000 % | 1.4.2012 T @M
& =l ST @ F U5 99 S fou uw 791 wEer s | o d6ft %
w9 % T 3,00,000 7% |

e & B4 | Ya9 & 97 B FI S & o i AT HIRT q91 avas
Tt gfafsat $ife |

Disha and Divya are partners in a firm sharing profits in the ratio of
3 : 2 respectively. The fixed capital of Disha is ¥ 4,80,000 and Divya is

¥ 3,00,000. On 1.4.2012 they admitted Hina as a new partner for
1/5™ share in future profits. Hina brought ¥ 3,00,000 as her capital.

- Calculate the value of goodwill of the firm and record necessary Journal

9'

67/1/1

Entries on Hina’s admission.

T FH H (i) TS GRT QT (ii) Y1 g ferereqr w9 |

Explain dissolution of a firm by (i) Agreement and (ii) Notice.
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T, 9% 997 I Ush B § HISCR & 99T A 3:2: 1 % UM § oy died

1 1.3.2013 i HH &1 fawe & w0 | Ty wW & weft el (T H

BIgHL) AT JAT I8 AT o AT o G¥Tq Y HHIrgd g1 &t

TR

(i) BH % 98I @ # T 18,000 T T 9T |

(i) T 50,000 F Tk M-rfiferiga mex aEfere off o e 3 & form |

(iii) ¥ 5,000 % TGRI I @A & T FIH H T 4,000 FH AW T
T |

w1 & faee & aua 39w & foe stavaes s gfafsat i |

X, Y and Z are partners in a firm sharing profits in the ratio of 3 : 2 : 1
respectively. The firm was dissolved on 1.3.2013. After transferring
assets (other than cash) and third party liabilities to the ‘Realisation
Account’ you are provided with the following information :

(1) There was a balance of ¥ 18,000 in the firm’s Profit and Loss
Account.

(ii) There was an unrecorded bike of ¥ 50,000 which was taken over
by X. '

(111) Creditors of T 5,000 were paid ¥ 4,000 in full settlement of

' accounts.

Pass necessary Journal Entries for the above at the time of dissolution of
firm.

T F9uE | TS $9 9Nl § T 2,00,000 1 fHa @e ARAa fmam aon =
YHR & FFHE | Jfawar Shi AT & 10% B | TG % 9o sl o

G)  Aferemt i Gefeor faftr gro = |
() ey 3ty g R Af el &1 qeaie sfvesi % &7 avl & 52
%+ 3R W TR I |

Sgar i giEstEt T 20,00,000 off T 39 ST@ TFATE T 3,60,000 o |
A business has earned average profits of T 2,00,000 during the last few

‘years and the normal rate of return in similar business is 10%. Find out

the value of goodwill by
@) Capitalisation of Super Profit Method.

(i1)  Super Profit Method if the goodwill is valued at 3 vears’ purchase
of super profits.

The assets of the business were T 20,00,000 and its external liabilities
g 3,60,000.




12. T, goam o Sfas v w4 o 919eR € 991 AT 2:2: 1 % 3G9 § o
Ffecd & | wH Uiy a9 31 WTE W o W §¢ HE 8 | 30 R, 2012 A
A 1 g1 &1 71 | 99 o A § G & Yol @Id ¥ T 96,000 HT I
o | ferelt sft TmeieR i 7oy it feufa o, s 9o § frfaiad #1 SEgH
?: _

() ISt RS I AT 12% Fid 99 i G H A

(i) Td TG F IAUMTHRI I IGh @I1d & T & U T 15,000 fou
SITET |

(i) W % =T FE H ITH Te@, M H T 10,000 7, F PAE I
ISR =1 g I |

(v) g H fafy o 38 @ 5 T i A O $ mur |
ol | 77 ot 3fgfea o mm & 5 a9 2011-12 & dm fosmw
Z 8,00,000 o | 1 A¥d, 2012 ¥ 30 foamw, 2012 % fosa
T 1,50,000 9T | 31 |, 2012 I THATH 9 a1 9§ & T BH 6
@Y ¥ 1,00,000 T |

FAAH o IAUTIRRT ol T i o fIC ITehT G311 =TaT S8 | 4

Singh, Sultan and David are partners in a firm sharing profits in the

ratio of 2 : 2 : 1 respectively. Firm closes its accounts on 31%% March

every year. Sultan died on 30t September, 2012. There was a balance of
T 96,000 in Sultan’s Capital Account in the beginning of the year. In the

event of death of any partner. the partnership deed provideslfor the
- following :

1) Interest on capital will be calculated at the rate of 12% p.a.

(il) The executor of deceased partner shall be paid ¥ 15,000 for his
share of goodwill.

(iii) His share of Reserve Fund which is ¥ 10,000, shall be paid to his *
executor.

(iv) His share of profit till the date of death will be calculated on the
basis of sales. It is also specified that the sales during the year
2011 - 12 were ¥ 8,00,000. The sales from 15% April, 2012 to
3oth September, 2012 were ¥ 1,50,000. The profit of the firm for
the year ending 315* March, 2012 was ¥ 1,00,000.

Prepare Sultan’s Capital Account to be presented to his executor.

67/1/1 5 R:T.0.
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wad fafiee 3 a8 fafiee & T 10,00,000 3 wT=R =1 % TR am 20% T™
F1 YIaH 918 fafite & va § w fafmg v wfien w5 | 9w afsn =6
PaH 91§ fafiee & T 100 Y&F % Fwar 379 Hl 25% & Sfem w Fifa
s fopam T |

Iyt SRR feoafori i Tq8 ¥4 € g9id 5 394w oHel o fag T fafies
1 T F T JsEE SR fR |

X Ltd. purchased furniture of ¥ 10,00,000 from Y Ltd. and paid 20% of
the amount by accepting a bill of exchange in favour of Y Ltd. The

remaining amount was paid by issuing equity shares of ¥ 100 each at a
premium of 25% to Y Ltd.

Showing your working notes clearly, pass necessary Journal Entries for

‘the above transactions in the books of X Ltd.

1 3189, 2011 H T 30,00,000 i fwd St & W S T 100 JIAH &
30,000 39t # fowfea off, sHar fafies =9 78 | SEE 310,000 A B
ey W rifia e | Foime g = s @ g o

AT T — T 30 Ifd A

€A W - T 50 Uiq 319

A=W I W - T 20 Ui 3w
frim w gl sifgm g qun w3 mfi TSEHl H I HT e W
e | 1000 37T W Irfw FrET TR B Sreaw aft Uiy T A g |

HroHt arfafrem, 1956 i STFEET VI, 9FT 1 % AR 31 W, 2012 i !
% feufs oo & ‘srwr Ot quiise qen @rat i fewfirat o guiisw |
On 1%% April, 2011, Janta Ltd. was formed with an authorized capital of
T 30,00,000 divided into 30,000 shares of ¥ 100 each. The company
issued 10,000 shares at par. The issue price was payable as follows :

On application - ¥ 30 per share

On allotment — ¥ 50 per share

On final call — ¥ 20 per share

The issue was fully subscribed and the company allotted shares to all the
applicants. All money was received except the final call money on
1000 shares.

Show the ‘Share Capital’ in the Balance Sheet of the company as per
Schedule VI, Part I of the Companies Act, 1956 as at 315 March, 2012
and also show ‘Notes to Accounts’.




15. TH q¥1 Aigd U 4 # Oiger § | S Tt w o ot & et § 13 wm
%mﬁﬁWWl%Wﬁgﬁ@ﬂ%ﬂmmmt@?ﬁ
2 | U wrEe Hoiw | e 1 TEeE §

()  SAITRER A1 H1 10% J9H = gl w9 § g9 fegn smem |

(i) AT A T 5% THT 374 TERa S # g fean s |

(i) TN Y@ @ = F T H AETH T T 15% S W I9G
S S |

(iv) 3N % FoEd THIET &1 7 T FR gHM @iet St |

(v) Tasearsti i =€ F=E s TG 997 oHgEd S T agieat
% o gifea =1 =

31.3.2012 & 9979 ZC 8 & [@¢ B8 3 =FA10H @9 T 10,00,000 9T |

T, Higd 997 TE1 gR1 ¢ §T9ER] oig &1 5977 599 &9 § W T fohdl =m

Tl Sl IS hISIC G9T 81.3.2012 T F91H 77 =5 & 1o¢ TH, Wgd 9 TG

&1 ‘Tv-giie fafaasm @ o sARe | 6

Ram and Mohan are partners in a firm. Thev admitted Rakhi as a
31‘d

partner without capital for 1/3'® share in the profits of the firm. She is

blind by birth but having good management qualities. The new

partnership agreement provides for the following :

@) 10% of the trading profit will be donated to Prime Minister’s Relief
Fund.

(i) 5% of the trading profit will be donated to the National Blind
Relief Fund.

(i11)) Products will be sold at a discount of 15% on Maximum Retail
Price to the people living below poverty line.

(iv) New retail shops will be opened in the Naxal affected areas of the
country. :

(v)  New jobs of salespersons will be reserved for the girls belonging to
Scheduled Castes and Scheduled Tribes.

The trading profit of the firm for the year ended 31.3.2012 was
< 10,00,000.

Identify any four values considered by Ram, Mohan and Rakhi while
preparing the new partnership deed and also prepare the ‘Profit and Loss
Appropriation Account’ of Ram, Mohan and Rakhi for the year ended
- 31.3.2012.
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frfeRaa & oo seorEt & frfaa’ <6 sewerss Oeam=n gfafyat Hifso .

() wfgwr fafes 3 T 100 &% F 1,500, 12% FROMAT &1 10% o8 W
Tt fopan oM em 5% iftrm o foran ST 2

i) 3men fAfiE A T 100 I&F + 1,600, 9% FOTGET T T 20 fd o9
Hiftem = i foran e igm = 10 v oo iftem @ feean Smn
21

i) T fafiRe 3 T 100 &% & 1,000, 9% FUET 1 5% s W fAimm
fore fmepT e wea R fom < 2

Pass necessary Journal Entries for ‘issue of debentures’ for the following :
6)) Mahima Ltd. issued 1,500, 12% Debentures of ¥ 100 each at a

discount of 10%, redeemable at a premium of 5%.
(i1) Ayasha Ltd. issued 1,600, 9% Debentures of ¥ 100 each at a

premium of ¥ 20 per Debenture, redeemable at a premium of
T 10 per Debenture.

(111) Hina Ltd. issued 1,000, 9% Debentures of ¥ 100 each at a
discount of 5%, redeemable af par.

gen fafiees 3 = 10 9% & 50,000 T W & e & fqu smEe
mf=a fhe | ufy = g @ 27 o -

3MAE W - T 3 9fd 37w

e W - T 5 Ui W

o Td AT Jr=ET W - 99 AR
70,000 370 % fTT TG WTH gY | T SEGH! I AGIAH IER T30
T ATeH L &1 T | A& W ITH AT TR 61 GHEISH HATEeH T 23
ufyr ° w form mn | W, R 700 270 % Qe R e, erees e
T YA &l L IET | MM TR 1 A 7 A T ITh I Bl 7eq 1
o T | 3k uvETq yuW 1w 3ifam g wfst widt w8 | eneR, 5§ 500
ammfea fopT MU 9, wem wg Afw I UM w1 AW TE W umEn | 3ES
3t =t oft Stea R foram T | Sisa fopu Tw eTeT § @ 900 3T W T 8 UiT I
N R [ T o= e mn | @ Tl fee o s § @ % a oo
oftafera 9 | -
ST el o ToTT SEaet ot qEaeht § STevass Ostreen gfafsat Fife |

YT

8
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ffefaa sea & fow wrat it geaent & Stavae UsHE=n Tfafsat i

4+4=8

(%) @ fafee 3 T 100 3% F 500 Fwar 3w, ™= 10% & 98 W
frifira foram mam o, 1 = 20 fa 7w 6 gem I TR ® yaE T8
HE W Aed o | T 25 i 27w i af<m Jran ufsn ot o At
T8 ¢ oft | Sea foru U 7S & & 300 I W T 125 T I’ O YeA@
g: frifim &= fan mn | 9w i T 100 fd W @i vew
i o feam mam | '

(@) foom fafiRe 3 T 10 ¥ F 1,000 TmaT 3797, g T 2 9fd oW
Fftremy W frifim ffan mn a1, &1 = 5 ufs 3w it e oy ed
sifyey off Iffaa 2, &1 AW T8 5= T 760 O | 1 AWM W
T 2 Uld 39 &1 f=m Ir=an A o 7% 9i 98 8 o4t | Jea
T 9 A ® 800 W I [ YeT T 12 Wi W gA: T e
T | A A N T 11 T 39 QO Y& ga: Fifa = e m |

Raja Ltd. invited applications for issuing 50,000 equity shares of ¥ 10
each. The amount was payable as follows :

On application — T 3 per share
On allotment — ¥ 5 per share
On first and final call — the balance

Applications for 70,000 shares were received. Allotment was made to all
applicants on pro-rata basis. Excess money received on application was
adjusted towards sums due on allotment. Ramesh, who had applied for
700 shares, did not pay the allotment money and on his failure to pay the
allotment money his shares were forfeited. Afterwards, the first and final
call was made. Adhar, who had been allotted 500 shares, did not pay the
first and final call. His shares were also forfeited. Out of the forfeited
shares 900 shares were re-issued at ¥ 8 per share fully paid up. The
re-issued shares included all the shares of Ramesh.

Pass necessary Journal Entries for the above transactions in the books of
the company.

OR

9 PT:0.




Pass necessary Journal Entries in the books of the company for the
following transactions :

(a)

(b)

Ratan Ltd. forfeited 500 equity shares of ¥ 100 each issued at a
discount of 10% for the non-payment of first call of ¥ 20 per share.
The final call of T 25 per share was not yet made. Of the forfeited
shares 300 shares were re-issued at ¥ 125 per share fully paid up.
The remaining shares were re-issued at ¥ 100 per share fully paid
up.

Vishesh Ltd. forfeited 1,000 equity shares of ¥ 10 each issued at a
premium of T 2 per share for non-payment of allotment money of
¥ 5 per share including premium. The final call of ¥ 2 per share
was not yet called on these shares. Of the forfeited shares
800 shares were re-issued at ¥ 12 per share fully paid up. The
remaining shares were re-issued at ¥ 11 per share fully paid up.

18.  3T%U QYT ST6] Ush HH § TIEIEH & U1 2 : 1 & 79 H oy died 8 | I=H
A 1/4 9T % TAC A9 Y TH T AEEE SR | =Ad 9 Gt % o

T 3,00,000 ATTT qAT TEI F ST bl Yoil

HT GRS 36 Ay fawss

U § foe o | sEs foT = @ @ ST | 31.3.2012 H WA F

vau & qd w4 o fedfa foewor for= wenr o
31.3.2012 ST STEUT qAT 767 1 el oo
Foramd o | i
SRR 80,000 | U%e &= 1,20.000
¥ fa= 40,000 | fafay geR 80.000
TH §99 60,000 | BH=R 1,50,000
i ENIET] 2.50,000
350 5,00,000
| 8,20,000
s -520,000 een 4,00,000
10,00,000 10,00,000
67/1/1 10




T HT T ¥4 7= TwR o
() Hd9 ©F1fd % (9 9T S T T 1,20,000 FM@W |
(i) 9ER S TEeEEA T 4,50,000 W G TS HT T 2,30,000 W R
™ |
(iii) SR T 94 FOT % T 6% F1 Fa9E a1 Fmm |
e ETdT, TTERI % Yo @1, HEERl % =76 @0 991 98 B4 &1 feufa
Tereror sATST | 8
HAYAT
31 A€, 2012 =i ¥, fda qun 9o w1 ffa oo = o mn 2, & i
T B § GreieR 2 adr el o1 o oreft dSft o S1En W
31 W=, 2012 Wi wHvra, Ffer qern venst = fedrfa femmon

TER 42,000 | W& 2,00,000

EXCEIR ) 1,60,000 | TR 1,00,000

frfa 6 Gt 80,000 | &k 36,000
Yehat hi Gt 80,000 | STER 40,000

d oI EQull

FGT, R 40,000 | 5 F@qﬁm 2,000 | 38,000

% H Ushg 28,000

4,02,000 4,02,000

3@ fafar =t frdet 3 o & arfga 2R =1 fofa foen o &4 & sae ol =1

rrae fegER fomm st

() W99 T geF 20% g ST |

(i) 3SR W gEd HU % AT J@€H B 15% T S ST |

(i) W W 20% B T[T AT |

(iv) FH i TG HT GEAHT T 1,44,000 T AT TSI HIHGR HI A
Y AIFER 6 YSft Wl grRT wEEito fohar S |

v) T8 % I T 2,40,000 @ T |

T @, |Ei % §S @, S @ qun Fea % dEnteee 89 %

31g feafa foeror qar i |

11 P.TO..
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Arun and Balu are partners in a firm sharing profits in the ratio of
2 : 1. They admitted Chetan as a new partner for 1/4th share in profits.
I Chetan will bring ¥ 3,00,000 for his capital and the capitals of Arun and
Balu will be adjusted in their profit sharing ratio. For this current
accounts will be opened. The Balance Sheet of the firm on 31.3.2012

before Chetan’s admission was as follows :

Balance Sheet of Arun and Balu as at 31.3.2012

Amount Amoun
Liabilities -' ;un Assets : ;um
Creditors 80,000 | Cash in hand 1,20,000
Bills Payable 40,000 | Sundry Debtors 80,000
General Reserve 60,000 | Furniture 1,50,000
Capitals : _
Awtins 5,00,000 Machinery 2,50.000
Balu 3,20,000 8,20,000
DT N ) Building 4,00,000
10,00,000 ' 10,00,000 |

Other terms of the agreement were as follows :

@) Chetan will bring ¥ 1,20,000 for his share of goodwill.

(i) Building was revalued at ¥ 4,50,000 and Machinery at ¥ 2,30,000.

(iii)) A provision of 6% was to be made on debtors for bad debts.

Prepare Revaluation Account, Partners’ Capital Accounts, Partners’
Current Accounts and the Balance Sheet of the new firm.

OR

67/1/1 12




The Balance Sheet of Keshav, Nirmal and Pankaj who are partners in a

firm sharing profits according to their capital as on 31%* March, 2012 was

as follows :

Balance Sheet of Keshav, Nirmal and Pankaj as at 315 March, 2012

Liabilities Am;unt Assets Am;unt
Creditors 42,000 | Buildings 2,00,000
Keshav’s capital 1,60,000 | Machinery 1,00,000
| Nirmal’s capital 80,000 | Stock 36,000
Pankaj’s capital 80,000 | Debtors 40,000
Less : Provision
for Bad Debts - 2,000 38,000
General Reserve 40,000
Cash at Bank 28,000
4,02,000 4,02,000

On that date Nirmal decided to retire from the firm and was paid for his
share in the firm subject to the following :

@) Buildings to be appreciated by 20%.
(ii)  Provision for Bad Debts to be increased to 15% on Debtors.

(iii)
(v)

Machinery to be depreciated by 20%.
Goodwill of the firm is valued at ¥ 1,44,000 and the retiring

partner’s share is adjusted through the capital accounts of
remaining partners.

(v)  The capital of the new firm be fixed at T 2,40,000.

Prepare Revaluation A_ccount, Capital Accounts of the partners, Bank
Account and the Balance Sheet after Nirmal’s retirement.

67/1/1
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20.

21.

22.

67/1/1

amr - @
(Torefrar feraont =1 Tarweiwon)

PART -B
(Financial Statements Analysis)

‘s FAT % for R ot % R’ % wew w1 sg@ iR |
State the importance of ‘Analysis of Financial Statements’ for ‘Trade

Unions’.

g YaTE’ 1 3 FaATIT |

Give the meaning of ‘Cash Flow’.

Fre fafite 3 3uR @Wlie U wHiwR i fFva T 20,000 1 e femn foes
T 2,000 1 I GiEfrd o7 |

Yo Yo Torator ST S0 39 $6 ST i S e ?

Kamya Ltd. paid the instalment of ¥ 20,000 for furniture purchased on
credit in which interest of T 2,000 was included.

"How will you show this payment at the time of preparation of Cash Flow

Statement ?

30y fafies 1 Foawar oguE 2 : 1 8 | SRV "iga sarse % fefatea
AT | I8 G, WA AT AH HIS Tia T8l a0 :

(i) T 5,000 I TH AN FAT BT YA 6T T |

(i) - ¥ 2,00,000 % THAT A BT FIE Femam T |

(iii) ¥ 1,00,000 % 9% FUIGHAT T FTH Femer 7 |

Umesh Ltd.’s Debt-Equity ratio is 2 : 1. State with reason whether this
will increase, decrease or there will be no change in it due to the
following transactions :

@) A trade payable of T 5,000 was paid.
(i1) Issued equity shares of T 2,00,000.
(iii)) Issued 9% debentures of ¥ 1,00,000.

14
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23, W fafiees & f=fefen amv-af e & gormors amwaf faewor R

I | 4
b A [31.03.2012 | 31.03.2011
- a1 T T
1. | ST & 10.00.000 |  8,00,000
2. | =@ 400,000 |  5,00,000
NEaEL 2,00.000 1,00,000
MEEES 50% 50%

From the following Statement of Profit and Loss of Rajat Ltd. prepare a
Comparative Statement of Profit and Loss :

i Note | 31.03.2012 | 31.03.2011
Particulars
' No. | F Ey
1. | Revenue from operations - 10,00,000 8,00,000
2. | Expenses 4,00,000 5,00,000
3. | Other Income ) 2,00,000 1,00,000
4. | Income Tax 50% 50%

fat

24, THY TAfAeE 1 =1 § 31.3.2012 H WH GG g1 | (%) TS
UG AT (@) T TEq A 3l T T
Y (W6) T 1,00,000; =AM TEET (Z92R) T 1,20,000; - 30 &
T 4,000; UHS T 60,000; AMWNF =927 T 1,05,000; & Iferfony
¥ 8,000; &9 T WA i AR T 4,20,000.
AR G :
rf=w wioan (W) IR @iy (20%) ¥ T 20,000 fss o | 4
From the following information obtained from the books of Ramnath Ltd.
as on 31.3.2012, calculate (a) Quick Ratio and (b) Stock Turnover Ratio :
Inventory (Stock). T 1,00,000; Trade Receivables (Debtors) ¥ 1,20,000;

Advance Tax ¥ 4,000; Cash ¥ 60,000; Trade Payables ¥ 1,05,000;
Bank overdraft T 8,000; Cost of goods sold T 4,20,000.

Additional Information :

Closing Inventory (Stock) was ¥ 20,000 more than the Opening
Inventory (Stock).
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25. T AR e fafies % fafafen faufa foar & s yamr foaor Qam

0 31 WTE, 2012 I TaH a8 WE fefee w1 fearfa feemon
ferarzr de | 31.3.2012 31:3.2011
T 3 3
I — FHAT qUT II4TU :
1. | AVTUAR® T
(31) 37w it 20,00,000 17,00.000
(9) miea wa e
GIEEAERE) 3,00,000 4,00.000
9. | 2T raea vt et errerea arvft
T8 foma i _
3. | 3Tret IgaTy ;
Aelepiferss ko1 3,00,000 2,00,000
4. | 9Te] ITATU :
TR Y 50,000 25,000
T A 26,50,000 23,25,000
II - gfeae T
1. | orerer wiEsaf=at
(o7) warft uftarafat
@) Ho afteraft 8,00,000 9,00,000
(i) o Rt 5,00,000 2,00,000
(7) sreret Faw 3,00,000 4,00,000
2. | =re] ufteva =t
(31) wih (F9) 4,00,000 |- 5,00,000
(9) =mTiEs wfEat 1,50,000 1,25,000
(W) Ushs a1 Uhs TAHS 5,00,000 | 2,00,000
FH AR 26,50,000 23,25,000
SARE G :

I % QU Y TREFIE W T 1,00,000 T HeAEE SR T |

67/1/1
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Prepare a Cash Flow Statement from the following Balance Sheet of XYZ

-Ltd. :
Balance Sheet of XYZ Ltd. as at 315° March, 2012
Particulars Note | 31.3.2012 81.3.2011°
No. T T
I - Equity and Liabilities :
1. | Shareholder’s Funds: _
(a) Share Capital 20,00,000 17,00,000
(b) Reserves and Surplus |
(Profit & Loss Balance) 3,00,000 4,00,000
2. | Share Application money
pending allotment — —
3. | Non-current Liabilities :
Long Term Borrowings 3,00,000 2,00,000
4. | Current Liabilities :
Trade Payables 50,000 25,000
Total 26,50,000 23,25,000
II - Assets :
1. | Non-current Assets :
(a) Fixed Assets :
(1) Tangible Assets 8,00,000 9,00,000
(ii) Intangible Assets 5,00,000 - 2,00,000 |
(b) Non-current Investments 3,00,000 4,00,000
2. | Current Assets :
(a) Inventories 4,00,000 5,00,000
(b) Trade Receivables 1,50,000 1,25,000
(¢) Cash and Cash Equivalents 5,00,000 2,00,000
Total 26,50,000 23,25,000

Additional Information :

Depreciation of ¥ 1,00,000 was provided on Tangible Assets during the yéar.

67/1/1
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19.

20.

21.

22.

23.

24.

67/1/1

: "R - T
(stfreRfers sr@TeRT)
PART -C
(Computerized Accounting)

@i <1 affeptor fohd wEd 2 2

What is codification of accounts ?

&1 un.TH. % A=A &9 G Bl TH & ATCTn] 1 I arferere =
fawfia +0 1 TamE =291 w1 8 ?

Why do we seek to split information into different tables rather than
making one table in DBMS ?

“grerfres poil’ (ITeEdt 1) | T fyuE B 2

What is meant by ‘Primary Key’ ?

AT TG G & Teh! shl aTEaT HIfST |

Explain components of Computerized Accounting System.

‘qras e qen ‘Ser dice’ wedl w1 279 warsy |

Give the meaning of the terms ‘Password Security’ and ‘Data Vault'.

TE., e, B T B Y FH % e & gu Ieo i gua i
I9aTeT 1 T 3 B 2

@ THEIARIN W

() HAETHTEE AR

What is meant by the following clauses while generating information
through ‘query’ using SQL ?

G) FROM
G INNER
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25.

67/1/1

frafafiga & fore weier W wife 6t o FHif
TS W
T 20,000 % G da9 d% J dad Fl 25%, A8 T 3,500.
T 20,000 ¥ 3% F g Ia4 W JA a7 61 20%, =¥ T 5,500.
T R s |

< 10,000 % & Ja4 @ T 2,500

T 10,001 - T 18,000 - ¥ 3,500

T 18,000 § At T 4,500
TR Hﬁf‘{fﬁ T :

& 9a 1 12%, 94 Tob =IaH T 1,200.

Calculate the formula on Excel for the following :

‘Dearness Allowance :

25% of basic pay upto ¥ 20,000, minimum ¥ 3,500.
20% on basic pay above ¥ 20,000, minimum ¥ 5,500.

House Rent Allowance :

Upto basic pay of ¥ 10.000 T 2,500
T 10,001 — T 18,000 Z 3,500
Above T 18,000 T 4,500

City Compensatory Allowance :
12% of basic pay subject to a minimum of ¥ 1,200.
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